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Research related to the Parameter Auto-tuning of Two Mass Control
System

Byunghoon Chang and Yoichi Hori (The University of Tokyo)

Abstract

Quantitative assessment of searching ability of several heuristic search algorithms is an important issue in solving

real-world optimization problems.

In this paper, we propose a Parameter Auto-Tuning mehod for high-speed and high-precision positioning of CNC

apparatus. In order to realize the optimized velocity and feedfoward gain, we choose Genetic Algorithms which upgrade

the parameter by several operators(Crossover,Mutation) in generations.

Some experimental results using a CNC apparatus are shown to verify the effectiveness of the proposed method.
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